
social status and social upward mobility 



apply a theory here which has be specifically directed in the question 





apply theory of labor 
and theory of surplus value in this point 

ans is too short to 20 marks 
but acceptable for 10 marks 
ans is incomplete prima facie
not satisfactory and too short 6/20

write social mobility issue here that it has become very tough in current circumstances so migration is happening 
assabiyah is weakening too and the rural urban divide has widened etc use the syllabus to ans 




